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Amuscular passage common to both food and airis ..q:.b‘lhfq..f )‘-"c_’-ﬁ.!mﬂ_ﬁzfﬂ:zb):c‘..ﬁ -1
Pharynx 2 (D) Larynx U% (C) Alveol Susd (B) Trachea L/ (A)
Number of nephrones in each kidney is _“‘_JHJU?’-JU:/L;UV:A.)//: 2
12 Lac 41U 12 (D)7TLac 4U7(C) 10Lac 4U10 (B) 5lac 595 (A)
Central layer of eye is R GL;waT =
Sclera 1 (D) Retina s (C) Choroid X1/ (B) Cornea U¥ (A)
Deficiency of which vitamin causes the poor night vision. lz;u.?’Ju?..gff.:-.ua..JJu’ Bsu'( -4
Vitamin A <l/ts (D} Vitamin B J/¥s (C) Vitamin C ¢ ¢t (B) Vitamin D 3 ¢t (A)
What do some bones produce ? u}JL'r.l!uL,E-»{ -5
Blood cells &4k (D) Oxygen cﬁ:(T (C) Hormones v/ (B) Mucus S (A)
Essential process forthe continuation of species is _q_dj d,«,}g_z:‘}"; . /:'u’vu/ -6
Reproduction w’(h#; (D) Cloning F# (C) Respiration o ¢+ (B) locomotion S (A)
The unit of androecium is q_JKIJ(-ﬁ;J?J =4
Gamete 2" (D) Polen grain ¢/ (C) Anthers £ (B) Stamens #£(A)
It is hereditary (genetic) material q_ul.fjtw._._, -8
{RNA (D) RNA (C) mRNA (B) DNA(A)
Model of DNA structure was presented by lﬁjfidil.b’:)LrJDNA -9
Watson and Crick slerh (D) Crick 7 (C) Watson o (B) Mendel J& (A)
Change of nitrogen gas into nitrates is called _q..t'l.lf(t/ J_’#L,Cu":f‘tf -cﬁ:}/t -10
Ammunification u*-éari (B) Nitrogen fixation /> /£t (A)
Assimilation <1 (D) Nitrification u%ﬁ%;’t (C)
Y T2 AT LA T O P |
Study of composition and medical application of drugs is called
Mycology /&t (B) Pahrmacology S./¥L.6 (A)
Physiology %417 (D) Biotechnology BAME (C)
Human insulin gene was transfered into * _,u'y’J”‘u.:-’r@:’,Jf U1 =12

Yeast &2 (D) Bacteria L % (C) Virus U%b (B) Fungi 0¥ (A)
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Q.No.2 Write short answers any Five of the following 5x2=10 (z_é:ff';y-xﬁgza iy ékc-u'-dib») 24y
What is meant by passive smoking? ‘-'é—-"/g"--ff’ vs) !

Write symptoms of Bronchitis . i S |

Define osmoregulation . e.rir-?&’/;; Jﬂ’g"’r b{T

Define renal cortex. $r4i Jﬂ(‘ﬁ, F

What is meant by selective reabsorption? ¢ eslptfe s £ o

What are the types of coordination in living organisms,write their namses. -é;.’%tu_?u:‘:’g?’lfu’-"‘jﬂfuﬁuuwtg b

Define refiex arc. . ~¥-§’/’UJT ‘f'cfﬁ £

Write two main functions of spinal cord. 4’:."-’0 { (ﬂt,,ﬁbfj‘ LA .
Q.No.3 Write short answers any five of the following 5x2=10 (i feliz/fl oy bretits) 3y
Differentiate between flexor muscle and extensor muscie. ?‘;—-J)L«_’wd'} sl =) !

What is meant by osteoarthritis ? ' S iy E‘rﬁﬂf" 1/;:"";' | "

What are suckers? Give an example. -gwf’dfkrj} E

How does the reproduction occur in honey bee? ?uséfu"?wwu/ UE‘F&f i

What is hypogeal germination? Give an example. a:f':dt‘ ¢ uzé‘;féu’-‘"f ﬂﬂ °

For which purpose checker board is used? 5'4‘-_1,-1‘.,1509.:4{1_5,;/3* u’;@dﬁ 1

What is meant by template? : ?4‘:..»/@_-":.. i R

Define Gene. -éf’u&’/."tfdf A
Q.No.4 Write short answers any five of the following 5x2=10 (égfwklﬁfa%:amrékc-ud Jita) 42
What are biogeochemical cycles? Name some of them ..f-.:.’grt«f.»{;- aur?ugang;’?vﬂffg f
Write down the difference between ecosystem and biosphere. Y 1T i) r
Write down some uses of glycerol. , -’qéfdi"" 'ﬁ%’cﬁd’/{ d
What do you know about lactic acid fermentation? St e LU
What is the role of Pasteur in the field of fermentation? ?.:-_;l:f lﬂ}f &L)«’-d‘é.fﬁu’ﬁ? o
Define vaccines. Who introduced this process? ?&'JIJJWLJ(JZf %f-a;f/U)ng 1
What is the difference between pharmacy and pharmacology ?Q-J)k‘/uﬁ' S st | “
Differentiate between broad spectrum and narrow spectrum antibiotics ?q..J/;L_fVCu‘fo g@'ir}%j:sl r}-‘;ju A

(PART Il ) p g3 dsan

NOTE : Attempt any two questions from this part 9x2=18 ‘:‘:.d;:/i’t)’d’.:.«ulﬂ:c..éf:.. S)1 S
Write a note on functioning of kidney 5 2}(9!.5 fﬁ’g..;f {A) -5

Write a note on thyroid glands and adrenal glands. 4 ’4!9..:9451';{&;,9;:! ik )’bélﬁ B)
Write a note on cartilage. ' 5 Zﬁd..b:’{ éi{ (A) -6
i e A @

Write a note on binary fission

5 éyu, UR2 4 R ¢ YUrf BRLLEFL = b5 (A) 7

What is 3R rule for the conservation of nature? Explain R1 and R2
Write the advantages of using fermenter. 4 é_‘ﬂ’l;’f.i_.fdb'*ff’/' (B)
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147
The world ' No Tobcco Day ' is celebrated every yearon , q_t'lggl?u:uj bl Vdvr
31 October <3131 (D) 10th October 27110 (C) 31 May ("31(B) 10th May 10 (A)
The example of halophytes plants is -q_dhfu»{u"-’f bor -2
Cactus J‘g (D) Rose ! (C) Sea grass JWee (B) Water lily J7 (A)
‘-'q..J;b'....a:’u/ﬁrﬁ/t/;fﬂlxsft/df:faL:L"LS/'! -3
Which lobe of cerebrum receives and analyzes visual information
Temporal Ju£ (D) Occipitaldﬁujf (C) Parietal Fiz (B) Frontal J7 (A)
He wrote three books on diseases and surgery of eye. -u:’{)fl:@r."gug;k;.»!dz/gfﬁ -4
Bu Ali Sena =% (B)  Ibn al-Haytham Azl (A)
Abdul Malik Asmai icfUix (D) Alilbnisa (=i (C)
The longest bone in human body is _4_Jnu$dzc.¢u:(«’dun -5
Hyoid bone 2 ¥#I£|(D) Stapes u“:)’ (C) Thigh bone dé-d’ub (B)Sternum (f (A)
It is the process used to propagate sugar cane plantation. -4..‘;1_) Uy W1t d;h’ﬁb’&f -6
Fragmentation &ulius i (D) Cutting & (C) Layering £ (B) Grafting &L/ (A)
In mint vegetative propagation occurs by. ,g;),;.axo.:.*iﬂ 903 iy L}‘.',:;:g o §
Corms 7/ (D) Suckers i/ (C) Leaves «Us (B) Stem tubers Jiz£(” (A)
The book " Natural selection” writen by Darwin was published in. _Jn(‘jbﬁ"cfgv[,f = ..,«l:"d,c}ul:’ -8
1960 (D) 1959 (C) 1860 (B) 1859 (A)
How many years Darwin spent his voyage on HMS ? ?lf}'{ HMS thzdf»dL’ZL Yyuls -9
7 years Ju 7 (D) 6years Ju 6 (C) 5years Ju 5(B) 4 years Jv 4 (A)
4_::JL~L°):( (ﬂ'@k}:&d}iﬁ:{n!%: -10
Which type of symbiosis relationship is there in termite and protozoan?
Parasitism (Jl2fl-la (D) Commensalism r)j"ff (C) Predation cﬂé{ (B) Mutualism 4 (A)
When was the work on Genetic Engineering started ? YUnls ._z?ﬂ’..f A e 11
1964 (D) 1954 (C) 1944 (B) 1934 (A)
To which group aspirin belongs ? ¥ ¢ ;.7,/.:,@/&""(@;.: -12

Drug from plants I/ ey (B) Drug from animals s/ Mecunde (A)
Synthetic drug e bfl (D)  Drug from bacteria e/ Pt 2 (C)
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Q. No.2 Write short answers any Five of the following 5x2=10
Diffrentiate between stomata and air spaces. -4, SLOAL AF L nlte s>
Give symptoms of Amphysema. -4’?}1‘-&11‘ JV.‘.'U“'"
Differentiate between guttation and transpiration. ...’:;fng)uﬁ;ﬂ/’gl)»lu’!
Define dialysis,name its two methods. -é;fartﬁu:'i)»[..w..éf_éﬂgfﬂy?
What are the causes of kidney stones? *ﬁzfa}xnfd/?du:/
Define co-ordination. _'a_{..i_lchP-'UhTf
Write fuctions of Medulla Oblongata. _a{;;’ JUIL bl &
What is hypermetropia? How can it be rectified? T;.CC%C»&_’:’J? w\'q_:wf;gv'fz’g
Q.No.3 Write short answers any five of the following 5x2=10 (@f_—.;w;ﬁ’.{._-.uv ég;.t,CJ_J’E-,») Sf(UIr
What is osteoporosis? Give one reason for this disease. _é,jg;..QJJ/wi‘q.;y!c.u’»;&:r
Define exoskeleton and endoskeleton.Give examples also. -aﬁdfmlé(.yf (_{.;/"‘C:J;Inly"‘-'c =l
Differentiate between binary fission and fragmentation. \’q-J)eru’F/"ﬂ' L'f‘id;'{
What is seed coat ? Describe its function . -éjé)yfbl ‘-'q.l,_—".‘.—/}_/
Defferentiate between epicotyl and hypocotyl. -@k&j\;‘ﬁf{}uuﬂf@
Define monohybrid and dihybrid cross. ..’q{...gﬂf u’:l):i/:'}Jiiuléﬁ}fr
Define trait. Give two examples of human trait. _430’-J¢J¢¢/':L}Qh:?uzié¢¢}
Define Mendel law of independent assortment. -.’q{..y/U.'.M}lrl..‘/‘.‘gdii.JTf vl Jir
Q.No.4 Write short answers any five of the following 5x2=10 (’qéfa.rl,fﬁ/‘-?ﬁ.:.wrélv.c. LSt a0y

Define popupaltion.

-

What is meant by "Nitrogen assimilation” ?

el e SAES P

Define fermentation.

R .

Write objectives of genetic engineering.

-Jyt.-é.!/’!-ﬁv"

What is urokinase 7 What is its function? ?+rfgvgnfq,gyfﬁ;z
Write names of two drugs prepared from minerals. _éﬁﬂ(tﬁawludbi.nd‘ba.f/
SpLned i L vk

Whata are effects of sedatives?

What is the function of tetracyclines? For which disease it is used ?
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q..d»/’t/‘u' = Uf;mc....&fa. -0 (RS
sr 6 Jl'.mu?’-{ NS besf (A) -5
4@;,_—51/&1;,& (B)
What is meant by cartilage ? Explain its types _ 5 ’q{..vUJJrL-"'L,Fﬂ'«;- :’/l.:’::-g. & (A) -6
a & e £ L PSS my B)

Describe the advantages and disadvantages of vegetative propagation in plants

. NOTE : Attempt any two questions from this part 9x2=18
How plants remove extra carbon dioxide , oxygen and water out side 5

Describe structure of neuron 4

Describe the different steps of nitrogen cycle in detail. 5 _gukfkﬁdﬁfﬁuﬁr&sft (A) -7
| " Sy o R OBNEILE g i S (B)
Define bio-technology and also describe the area in which bio-technology is applicable .
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